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L B dh R

1.1. EdTHEE

(2 aEt
IH H YA R HAT A1-A2
78 TR PLDS-2. 0X2. 0 kg 27, 300 27, 300
=TT —Fx v kg 16 16
P LGRS R v kg 94 94
FRAMTERAA kg 29, 941 29, 941
TR (Bh A kg 28 28
HE kg 1,279 1,279
e Gr-B3-2E/PY-F3ik kg
m 52. 000m 52. 000m
EEAS kg 936 936
RV Ty M T kg 97 97
kg 24 24
/NEHE & 59, 714 59, 714
1.2, FHE LRl R
R ARt
THH YA R BAAT Al A2
Bt H400 X 400 X 13 X 21 kg 1,118 1,118
ZFL—k kg 52 52
ALk e F b kg
/NEHE 1,170 1,170




2. FE T MR

2. 1. BT
a4 e W 1 TR %ﬂjﬁ( HianH M e B
(n?) (m®) (ke) AL-A2 (kg) e
R PLDS—2. 0X2. 0 4.0 156. 0 700. 0 39 39 27,300 [fifs=X
/BB B (kg) | 27,300
/bt A (nf) 2 | 156.00
T SRR (ke) ¢ 27,300 |kg
B AR E AT () © 156. 00 |ni
22.—TT7 4—Fx T
BER| S| HAHE i o EES
s o W (kg/m) (m) (kg) AL-A2 o (kg) e
=TT 4—%xvT| =TT 4—Fx T - - 0.1 156 156 16
/BB & (kg) - 16
T X7 HEVERE (e 16 |kg
2. 3. 78 T AR A v
HER| RS B B Hk ot &
s B Wi (kg/m) (m) (kg) AL-A2 (kg) i
ERE VAN PBN-20 X 120SR - - 0.37 156 156 58
Uty k PURN-20 - - 0. 06 156 156 9
IS JHE 4 PCH-20 - - 0.03 312 312 9
AT T HSL-S - - 0. 04 156 156 6
Bufre HSL-P - - 0. 06 156 156 9
A KWAS-10 - - 0.01 156 156 2
/NEPE B (kg) - 94
B LARHAE HR vh BEPE R (ke) @ 94 |kg
2. 4. FHBHL (PCHY)
¥ B Wi SROCELR N e R 2R &t it
(kg/m) (m) (kg) AL-A2 (kg) i
i (1 BRY) PMG-6. 0B - - 1610. 0 8 8 12, 880
i AT (1 BARY) PEG-7. 0B - - 1431.0 8 8 11, 448
S PSB - - 52. 0 30 30 1,560 [FEHTE >~ T 2.0m
it PLB-3.0 - - 61.0 14 14 854 |FHTE v F 2.0m
it PLB-2.5 - - 50. 0 6 6 300 |FHTE v F 2.0m
R PSP-1 - - 17.0 24 24 408
R PSP-3B - - 43.0 12 12 516
R PSP-4B - - 22.0 24 24 528
WREER (1 BARUA) PSP-5B - - 6.0 24 24 144
Bt bt (954) PCB-L - - 22.0 28 28 616
254 FaysR&H|  HSL - - 1.7 156 156 265
A KSB - - 43.7 8 8 350
A=A PFB - - 6.0 8 8 48
ATy s PMB - - 3.0 8 8 24
/NEME B (kg) 1| 29,941
R (PO B EETE (ke) 29,941 kg
2. 5. M (B R A
4 S Wi HER| RS B B Kk e B
(kg/m) (m) (kg) AL-A2 (kg) i
D4 4R PGF - - 1.0 28 28 28
/NEPE B (kg) - 28
S ER (BLEEH) A R B (ke) © 28 |kg
2.6. Hh7E
4 SR Wi HERE| EX HE Bk pen R
(kg/m) (m) (kg) A1-A2 (kg) s
s [-200X80X 7. 5X11 24. 60 4.000 98.4 10 10 984
n [-200X80X 7. 5X11 24. 60 2. 000 49.2 6 6 295
/PR R (kg) - 1,279
Mg S EME R (ke) ¢ 1,279 |kg




2. FE T MR

2. 7. B
s A W MOTEE| RS | WGEE 5E s TR
(kg/m) (m (ke) AL-A2 (ke) 1%
9o iR Gr-B3—-2E/PY-F3ik 26. 000 2 2
/NEHELR (kg)
JEF (m) : 52. 00
Bz & FHE E (ke) @ kg
Bzt 4E R (m) : 52. 00 |m
2.8 K Wb« Fyb (CEEEIM U D
MOTER| RS | WEER 5E e L
A, B W (kg/m) (m) (kg) AL-A2 (kg) s
T — KSU-AN - - 3.00 16 16 48 2 JEE A
AL bFy b KBN-30 X 110 - - 1.19 16 16 19 2 JE A
AN hF v b KBN-24 X 60N - - 0.32 16 16 5 7a oy JEE
ANy hora PBN-22 X 115 - - 0.72 480 480 346 MR
vy Y 2=V4 PBN-22 X 70 - - 0.59 528 528 312 FMridtE
AT VR b KBN-22 X 80 - - 0.59 24 24 14 RS
INA T UL B KBN-22 X 65 - - 0.54 240 240 130 S U A
AT VR b KBN-22 X 65 - - 0.54 80 80 43 RS B
Y7 hEY PPN - - 1. 00 20 20 20
INETE B (kg) 936
Bvh - Fyb CGEEMERATHD) S EPE R (ke) 936 |kg
2.9. 8 b - Fy b (B EA )
B R | R B B Hiht aat &
s SR (kg/m) (m) (kg) AL-A2 (kg) 5z
NATURL B A Y F KBN-22 X 85G - - 0. 60 112 112 67 FMr+ LR
AL b F v b PBN-20 X 150 - - 0.53 28 28 15 R+ R SR
AL b F b PBN-20 X 150 - - 0.53 28 28 15 A S R 2 b
/NEME B (kg) - 97
vh - Fy b (BHEEMRERAEH) AP (k) 97 |kg
2.10. K Vb« Fob
B R R B B Hht ot &
A B Wi (kg/m) (m) (kg) AL-A2 (kg) i
MFVYA/E Wb F10T-M20 X 60 - - 0.39 56 56 22 R RE SREEHEAR L b A
TSR M20 5° - - 0.04 56 56 2 RS SEEUER L b AL
/NEME B (kg) - 24
Avh -y b AFHER (kg) © 24 |kg




3. T L &

3. 1. By
o a8 i WATTR| RS | TR BE e 7
(kg/m) | (m (kg) AL A2 (ke) fii %
ek 400 X400 X13X21 172. 00 6. 500 1118. 0 1 1 1,118
/NEMELEE (kg) 1,118
et AR R (kg) 1,118 |kg
3.2. 77L— |
i MATELRE| RX | MECR wE at ik
S e (kg/m) (m) (kg) AL A2 = (kg) .
AT T F— PL-192 X 12 X 356 (400S) - — 6. 44 8 8 52 ok
ANEHET R (k) - 52
7 L— b EEtEk ke) 52 |kg
3.3 K Wb - Fob
WERE| RE | HAHE M st [
Y A5 i (kg/m) | (m) (ke) Al 2 (ke) .
TIHNT I — - - 16 16 M
NP (kg)
vk - o b AEPE R (ke) kg
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L B BARRT R

1) AET
H H BT AlLER o=
QN m’ 50.3 o ck=21N/mm’
PRI BrAtEEY 7—Fv7 | m 4.2 | o ck=21N/mn’
& i m® 94.5
ISIEIE t=10cm m> 42.8 | o ck=18N/mm’
— R m? 139.0
7 " ERAEIEY) FEJ%?%W mf ——————
& E m? 139.0
WL=ar s U— pop m?® 2.6
D13 kg 734 SD295
D16 ~ D25 kg 2, 690 3
P D29 ~ D32 ke | —— 2
o D35 ke | ——— I
D38 ke | —— I
o P & F k§ 3,424 N
D29 E
. . D32 EEH s
WA B D35 E
A at  |mor|
. D38 I —
BT S 7T E—
I WM W A t=20cm m’ | ——
KEEENLHZ )L | EIEELZ IV | m® 0.197 BT T
& T I ¢ 150 m 6. 4
P i 2 A o175 o —
2
2T Pk i35 Eigz ﬁmg —
Ak m*|
AT N —
3: C fiEg; m*|
b T
#J’% " AﬁEiEj:Z m’|
M| Bﬁﬁfﬂig m’|
+ (OF 58117 m’|
A
R N m'|
¥ AfERE | m° 84.3
Mt 1T ’ T N —
+ (OF 58117 m’|
K En me 84.3
il Y el
T A = O
+ (OF 5117 m*|
7t m*|
AN =2 m® 84.3
& &t m’ 84.3
HIE L B m? 35. 8
S m’ 4.5
FmmEE e m? 42. 8
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2) BRAHEEY) (o ck=21N/mn")

(1) "F~y b

O = 9.68 m?> X 0.50

(2) Bt BE

®= ( 1.50 X 3.80 — 1/2 x 1.00 X 0.02 ) X 6.70
Q) EEvAT

®= 1/2x ( 1.25 4+ 2.70 ) X 2.90 X 0.60 x 2
@ = 1/2 X 0.50 X 0.50 X 2.12 x 2

4) 7—Fo 7

® = 6.00 X 1.10 X 6.70

TEIH LAE: SV

3) YLarvry—F (o ck=18N/mm%)

Al = ( 6.00 + 020 ) X ( 6.70 + 0.20 )

wHE (&)
BEX t = 010 m
V = 42.8 X 0.10

Il
B

B

B
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2) — R

(1) "F~y b

O = mEFHR LD A =
@ = mEFHR LD A =
® = 0.50 X 1.65
@ = 0.50 X 0.25
(2) B2 BE

® = 3.78 X 6.70
® = 3.80 X 6.70
@ = ( 1.50 X 3.80
3) ERvA T

® = 1/2 x ( 1.25
@ = 0.60 X ( 1.25
= {( 0.71 — 0.50
(3) 7—Fo

@= ( 6.00 + 6.70

3) Lo Y — AP

A= ( 6.20

+ 6.90

9. 68 m?

6. 55 m?

X 2

X 2

— 1.09 mZ — 1.09
— 1/2 X 1.00 x 0.

4+ 2,70 ) X 2.90 X
+ 3.24 + 2.75 )
) X 2.08

4+ 1/2 x 0.50 X 0.50
) X 1.10 x 2
) X 0.10 x 2

m
02

2
X

2

X

e - > ©

z
) X2
by
X 2
(#H)
1.120 } X 2
Py

— AR E A

18.

25.
23.
11.
60.

WlwWw 39 & 3

Ok W w

22.9

32.8

27.



&

(SD295, M ETFHY)

H H 8 i £ HAL | FERLhE L | bR T
D13 kg 734
D16 kg 1,83 |  ————
D16 D19 kg 74 |
~ D22 kg 413 | @ ——
D25 p2%5 | ke| ~—— | @———
o INEF | ke 2,600 | ———
PR B -

D29 D29 kg ____________
~ D32 | ke| ———| @——
D2 gt (ke | —— |  ——
D35 ke | ——— | @
D38 ke | ——— | —
& 2 kg 3,424 | —
D29 el -
D32 gl -

T A JEHER T —
. D35 el -
& & |@m| — [
D38 el -

ARG T - —
& F @

/ Vovind 0
KSR DOES = = 0.000




6. 251

1) FERK

(Pt 25, H=30m)

B E@ X
1200 1500 1200

50 b0
22222 ///// §§ é%
S|
— i

AT mEE

8900

12000 50Q 6700 5001200

G

s

5001200

5001200

5500

2) WAER Y

Wl =

(

5.50

_—

4400

5500

o [ 7 L B
g % LA
/ S R
A s |
00 500 500 50(
1200 | 60G__ 11200 2100 _[1200 | 600
3300

+ 8.90 + 5.50
+ 1.80 + 3.30 +

.80 ) X 5.20



7. AT
1) MmIvkEE A 2 v (BTG T)

EREST 0 o= 4 {1 T
R t 0. 058

Vi = 0.600 X 0.630 X 0.058 X 4 = 0.088

V2 = x / 4 X 0.1502 X 0.400 X 4 X 4 = 0.113
T A =R S PERR
V3 = — x / 4 X 0.0322 X 0.340 X 4 X 4 = -0.004

XV = 0.197

2) MfEAFE  CFEB LA L)
FOKER: ¢ = 150 mm, L = 400 mm, n = 4 A, EEFT 4

TR XL = 040 X 4 X 4 = 6.4 m

B A i)

1000

320 680
380 270

18] 230 175 35| 200 135
0

600 64

[t hAap

=< 2w 2.0%

Level m—n—m

Foh—n—FEKRE |n|lln z 7>jJ—I§—5F'é$E$_I
¢ 150, L=400 L = ¢ 150, L=400 It

58

7 h—if—
¢ 32 x 340

lr
EIEEILZIL = EIEELZIL
15]116 185_[_13b
230 270

380
75| 230 [75
s 115

N

135

270
630

it Pl
135
35| 200 135




8. EF¥(LT

1) IR

9610(10910)

el

\Lgé;

|
1310

0 6000 (6700) 1800
8300 (9000)

O RBEFERAMETRY .

Vi = 1/2 x ( 9.61 x 10.91
+ 830 X 9.00 ) X 1.31 = 117
3) #HEL GEELB)
V1l = fEEl & = 117
V2 =¥ LarrsU—rER (227 U—h&ED) = -4
V3 = JERRZERR (227 U—FrX0) = —44.
SV = 69.
4) 7% =+
vV = #Hlt+E — #HELEE X Z{kER (1/0)
= 117.6 — 69.1 0.9 = 40.
5) FEmEEIE

A =¥BLar 7 —1rEELD = 42

— N W O
5 B B B



FET

it

¥ 3



§ L B ERER

g H Hi ¥ = iva AL A A2fEEm & F

(7w 7 i5ERT)

A=A 1T s BT a s X350 m2 327.38 276. 33 603. 71

A= 27 ) — b m3 49.11 41.45 90. 56

A7 Y —h o ck=18N/mm2 =150 m3 0.00 0. 00 0. 00

BADK FAE)T Y457 RC-40 m3 158. 55 133.76 292. 31

H Hpt 17A94} £=20mm ) 17. 80 18. 31 36. 11
(L)

SR m 68. 11 57. 44 125. 55

FeptEay ) -} o ck=18N/mm2 m3 6.81 5. 74 12. 56

U P m2 29. 97 25.27 55. 24
(hA1kT)

EMZAR o ck=18N/mm2 m3 2.59 2.59 5.17

UM m2 20. 29 20. 29 40. 58

HOAT FE)Tyye—7Y RC-40  t =200 m2 0. 00 0.00 0. 00
(BREET)

eV o ck=18N/mm2 m3 5.17 3.88 9.05

e m2 40. 59 30. 44 71.03

HOAT FE)Tyvr—7Y RC-40  t =200 m2 0. 00 0.00 0. 00
(R 1)

PR m 64. 20 52. 90 117. 10

EVZAR o ck=18N/mm2 m3 50. 72 41.79 92.51
(fE¥E+T)

A1 m3 245. 19 373.38 618. 57

HBHRL m3 115.78 195. 31 311. 09

¥ - m3 129. 41 178. 07 307. 48
(BufHir 1)

ey m2 14. 12 15. 01 29. 12




§ 2. ALK& SR8+
1. aBl7 a7

IER 66. 308 m
1-1. 7'a v 7 ik
@ 11.700 X 5. 087 59. 52
@ 1/2x( 7.400 + 8.715 )X 5. 087 = 40. 99
@ 1/2x( 9.700 + 11.073 ) X 5. 087 = 52. 84
@ 6.700 X 5. 087 = 34. 08
® 1/2x( 9.700 + 10.310 ) X 5. 087 = 50. 90
® 1/2x( 2.200 + 2.815 )X 5. 087 = 12.76
@ 15.000 X 5. 087 = 76. 31
> 327.38 m2
71:@7\\\3‘)7
A = = 327.38 m2
1-2.JiliA=>27 U —F (0.150m3/m2)
327. 4 X 0. 150 = 49.11 m3
1-3. A DS
1/2X( 0.289 + 0.697 )X 4. 850 = 158.55 m2
1-4. H #ipfr (= 2AHF A4 ~ t=20mm)
5. 087 X 0.35 X 10 = 17.80 m2
2. JemE T It 68. 108 m
2-1.a7J—Fk
vV o= 0.1 X 68. 108 = 6.811 m3
2-2. Bk
A = 0.44 X 68. 108 = 29.968 m2
3./hAtkT
3-1.arr7Y—Fk
[AIFE (K& n)
A = = 4.31 m2
& t=300
Vv = 4,31 X 0. 300 = 2.586 m3
a7 ) —hEEF >V = 2.586 m3
3-2. a7 Y — AP
=) = 5.09 X 0. 300 = 1.526 m2
({8 ) = 4. 31 X 2 = 8.620 m2
(mmfR) 10. 146  m2
BPpEF XV = 10. 146 = 20.292 m2
3-3. EIA T RC-40 t =200 W=500
A = 0.000 m3



4. [REET
4-1. a7 Y —F
T AH (ML)

A —
AR t=300

v = 4.31 X 0. 300
a7y J— hEE zv

4-2. a7 ) — RAEIP

(i) = 5. 09 X 0. 300
(Al = 4.31 X 2
(i fH)
BPeGE 2V = 10. 147

4-3. AT RC-40 t =200 W=500

A
5. R .
5-1. 27—k
vV o= 0.79 X 64. 2
6. +T
PRI
3.6 X 68. 108
HEL
1.7 X 68. 108
T LB
245. 189 - 115. 784
7. BT T
b EaY

1/2x( 2.275 + 0.500 )X 5. 087

X

X

4.31

. 172

5. 172

m2

m3
m3

1. 527

. 620
10.
40.

147
588

m2
m2
m2
m2

50.

. 000

m3

64.2 m

718

m3

245.

189

m3

115.

784

m3

129.

405

m3

14. 12

m2




§ 3. A2l SRl I+
1.a8l7ay

IEE 55.943 m
1-1. 7’2 v 7 [fifk
@ 20.000 X 5. 087 101. 74
@ 1/2x( 3.400 + 4.036 )X 5. 087 = 18.91
@ 1/2x( 9.700 + 10.336 ) X 5. 087 = 50. 96
@ 7.200 X 5. 087 = 36. 63
® 1/2x( 9.700 + 10.686 ) X 5. 087 = 51.85
® 1/2x( 2.700 + 3.685 )X 5. 087 = 16. 24
> 276.33 m2
i =R
SA = = 276.33  m2
1-2. ffiliA=x> 27 ) — T~ (0. 183m3/m2)
276.3 X 0. 150 = 41.45 m3
1-3. EIAOHS
1/2X( 0.289 + 0.697 )X 4. 850 = 133.76
> 133.76 m2
1-4. B #kf (=7 A% A F  t=20mm)
5. 087 X 0. 45 X 8 = 18.31
= 18.31 m2
2. FERgE T R 57.443 m
2-1.2 7 U—F
v o= 0.1 X 57.443 = 5.744 m3
2-2. Bl
A = 0.44 X 57.443 = 25.275  m2
3./hA kT
3-1.2 7 U—F
mfE  (E L)
A = = 4.31 m2
RFE  t=300
y = 4.31 X 0. 300 = 2.586 m3
a7V —MaEF pAY = 2.586 m3
3-2. a7 U — AR
Uhhm) = 5. 09 X 0. 300 = 1.526 m2
(1A = 4.31 X 2 = 8.620 m2
(i fH) 10. 146 m2
PG EE 2V = 10. 146 = 20.292  m2
3-3. EiAT RC-40 t =200 W=500
A = 0.000 m3



4. [REET
4-1. a7 Y —F
T AH (ML)

A = = 4.31 m2
(LN £=300

v = 4.31 X 0. 300 X 3 = 3.879 m3
a7V —MaEE v = 3.879 m3

4-2. a7 ) — RAEIP

() = 5. 09 X 0. 300 = 1.527 m2
(fIAT) = 4.31 X 2 = 8.620 m2
(i) 10. 147 m2

RPeEE XV = 10. 147 X 3 = 30.441 m2

4-3. AT RC-40 t =200 W=500

A = 0.000 m3
5. KT I 52.904 m
5-1. 27—k
vV o= 0.79 X 52.904 = 41.794 m3
6. +T
PRI
6.5 X 57. 443 = 373.380 m3
HEL
3.4 X 57. 443 = 195.306 m3
T LB
373. 380 - 195. 306 = 178.073 m3
7. BT T
b EaY

1/2x( 2.450 + 0.500 )X 5. 087 X 2 = 15.01 m2
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L B BARGRR

1) ARTL
TH HAAT = i 2
‘ ¥ ow L AAB BRI m° 1,185.3
%o+ T A2F&H A m° 543.9
E & & m® 288. 1
a4 T m? 82.5
T X oy A NREEET m 8.0 | LW-H2500-B I -4000




2. Vi X B OWr i (<]

615 36
LY 518 B
65
1LY
by i
-2
)
Qe
s
el
—77

5 27
1497
o
15,08
o 1 615 o
g
w0

KBM_ 1 H=615, 000
SRHER

BE-5 |

81400

LHE JB

&L T

(ITRT

s

!

L

2-2/5-5MF

 BRSET V616.320

A1=54m2

3-3/4-4rE

6300

| EUREE V616,410

A2-2=43m2

=

‘R;g!f%lf

20, 704122

146
| ke
7,
il B16.87
ol 2 #1613
S ELg1e 3
010,98
& 5 16,04 6,86
§15 21 MR
R ) 51213
§18 10 s
41
. o
£le. P
B2 mall s
e
e 5F 10,41
| I ]
e T .
d
T
I s| 816 50
I
10
L P
fo10,
148 wik w15
418
ma s
e
faen 6148
15

2-2/3-3/8-8/9-9m

4-4/5-5/6-6/7-TH &



3 EKT

3-1. ALAE
1) BT (Fmt)

V1

V2

V3-1

V4

V5

2) WL (FiEt)

3) T (REL)

V3-2

3-2. A24F R
1) BEET (L)

V1

V2

V3

V4

V5

V6

V7

V8

4.

o>

fide I
A

1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2

1/2
1/2

1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2

5.50

( 0.00 m?+
( 0.00 m+
(Al m*+
( 54.00
( A2-1 m?2+
( 9.00

(A2 m*+
( 52.00
(Al m*+
( 54.00

X X X X X X X X X X

X ( A2-2
X ( 43.00

m®+
m®+

0.00 m?+
0.00 m?+
Al m?+
11.00 m?+
Al m?+
11.00 m?+
A2 mi+
19.00 m?+
A2 mi+
19.00 m?+
A2 mi+
19.00 m?+
A2 mi+
19.00 m?+
Al m?+
11.00 m?+
Al m?+
11.00 m?+

X X XXX X X XXX XXX XXX XX

AN N AN AN AN AN AN AN AN AN AN AN AN AN AN N N

m X 15.00 m

5. 7L % v A MgERET. (LW-H2500-B I —-4000)

L

4.00

m X 2

Al
54. 00
A2
52.00
A2-1
9.00
Al
54. 00
0. 00
0. 00

A2-2
43. 00

Al
11. 00
Al
11. 00
A2
19. 00
A2
19. 00
A2
19. 00
A2
19. 00
Al
11. 00
Al
11. 00
0. 00
0. 00

B BBBBBBZBESE

B BBBEBBEBEBBBBBBZBESE

B B

[ O O N N L S T U )

)

— — — — — — — — —

SN N R O O N O I S N T N S S SO S I N

)

N Y O N N N

X X X X X X X X X X

X X X XX X X XXX XXX XXX XX

L1
11. 25
L2
8. 80
L3
6.70
L4
7.38
L5
11. 69

L3
6.70

L1
19. 89
L2
2.09
L3
5. 63
L4
2.24
L5
7.04
L6
2.22
L7
2.96
L8
4.92
L9
1.80

= 5 B8 B888888E8E

B 38B8BBB8BBEBBBEEBEBEEERBESE

303.

466.

60.

391.

315.

= -351.
= 1185.

288.

109.

23.

84.

42.

133.

42.

44.

54,

543.

82.
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L B BARGRR

1) ART
. H B A i %
WO T m?® 351.5
AT {F 62
Btn5T
S YT T —




2. iE R K O

g® :

3. B T
3-1. ARG E
Vi = 1/2 x ( 000 m*+ Al m’) X LI m
/2 X ( 0.00 m?+ 19.00 m?) X 4.00 m = 380 m’
V2 = 1/2 X ( Al m*+ A2 @m) X 12 m
= 1/2 X ( 19.00 m*+ 19.00 m?) X 4.00 m = 76.0 m°
V3 = 1/2 X ( A2 m+ 0.00 ;') X L3 m
= 1/2 X ( 19.00 m*+ 0.00 m?) X 25.00 m = 237.5 m°
> = 351.5 m°
4. KB+ 5 T
4-1. ALFGE
N = 095 mX (229 m+ 30.20 m + 24.40 m )
/( 1.08 X 1.10 m) m%*1A = 62

4-2. A2FFE B
N = = 0 &
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L B BARGRR

1) ARTL

TH HAAT N i 2
T LS E m® 48.0
E T ERE t 59




1. BB ML T

(1) /5%y b

O = 0.40 X 1.65 X 7.00 = 4.6

(2) B RE

@ = 170 X 2.00 X 7.00 = 923.8

B) 7—F

® = 3.50 X 0.80 X 7.00 = 19.6
MR e mME LG5 2V = 48.0

2. B B TAE T

W EE 59t CHrafT I RE RO DRIEFEERETH L LHESNLD)



